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SUMMATIVE ASSESSMENT —1 (2011) - -
Yepfora adter—|
$OCIAL SCIENCE / wiforas s
Class — IX / eIt —

Time allowed: 3 hours . T Maximum Marks: 90
fRaifRa @ : 3 goe BT 3w : 90

General Instructions :

(i) The question paper has 31 questions in all. All questions are bompulsory.

(i) Marks are indicated against each question.

(i) - Questions from serial number 1-10 are Multiple ChOIce Questions. Each question

%5 carries one mark.

(iv). Questions from serial number 11 to 22 aré 3 mark questions. Answer of these
questions should not exceed 80 words each.

(v) Questions from serial number 23 to 30 are 5 mark questlons Answer of these
guestions should not exceed 120 words each.

(vi)  Question number 31 is a map question of 4 mark from Geography only After
completion, attach the map inside your answer book.

wr e ' RS _

(i) wmwﬁaﬁmm%tmwaﬁaﬁh :

(i) TR T P A IGD i o g T :

(i) v w1 ¥ 10 TH FREHAT T T TS W 1 G BB

(iv) Wv@nnﬁzzwmmammﬁlﬁﬁﬁmwmwwmﬁ
3fer €T B+ TR |

(v) wwza%aowmmswm%m%mmmw12031?::??‘1’
e 4 BT ARy

(vi) WW31WW@WM~4%WW%|WWWW%
9GP AT SR GRABT B I ¥W IR A AR |

1 The National Anthem of France, ‘Marseillaise’ was composed by :
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S (a) Jacabins (b) Regetdel’ Isle
(c) Rousseau (d) John Locke

W % T TR W TR S 1/\4

(@ S ‘/()/,uﬁzf‘aw

© F| (d) A ORE
Ay ‘
2. An estate consisting of the lords’ land and their mansions is called : 1 '

(@) Danton (b) Palace
(c) Chéteau {d) Manor

522 o o] &5 ST e FT O 9, o e o2

» (a) TIA 9, R
© Twmfed (@) SwiR

3.  The latitudinal extent of India lies between : 1
(a 7°5 Nand?26°5 N A
(b) &4 N and 37°6' N
(© 12°5 Nand 27°5' N
(d 12°5 Nand37°6' N ‘
WG 1 1 foream fram #2 fL ( 3,
(@ 7°5 IWH26°5 SWAH ‘ _ '
)ﬁwm@s#@mw : | ~
(@ 12°5' SW A 27°5 SWAw ' _ |

(d) 12°5' I 37° 6' W TH

4.  Which one of the Peninsular rivers flows towards the west ? : . 1
(a) Godawari ' (b) Krishna
(¢ Mahanadi (d) Tapi

T8 § &t wrafgdta 7€ ofiem @ ek wedt 7 2
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j (a) TR (b) F=m
I (¢)  mewel @/ adt

-~ . .
ehagbey L . 1

5. First Prime Minister of Ghana was :
(@) Augusto Pinochet (b) N Krumah
(¢) General Bachelet (d) Allende

T 1 FAH FHHEES i 412

OB &) TR
(0 RO IS d IR
- Which of the following countries was the first in the world to give ‘universal adult 1
_suffrage’ ?
(@) New Zealand (b) Britain -
(© India (@ USA
, 1
el i s WAl el fava &1 e < Frfefiga § | @ @ 2 |
(@ fide ) w3
© W@ 9, Eitey
7. When was the election to the Constituent Assembly held in India ? 1
(@) August 1946 (b) July 1947
(¢)  September 1946 (d) July 1946
- G W Sfaue g %1 T % get o2
@) SFTE 1946 (b) 1947
(©  faamr1946 ()] )/ I 1946
8. Which one of the following is not related to working capital? 1
(a) Building e (b) Raw Material
() Cashinhand -  (d) Seeds
- 3T G i Yo @ waifia e {2
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@) e (b) T
© W$§ua d

9. Education contributes towards the growth of a society. It also enhances the : 1
(@) National income -(b) Cultural richness

© ‘ Efficiency of governance (d) All the above
vma%ﬂﬁaaﬁﬁﬁm?%Sﬁﬁmtﬁmﬁ%a%aﬁa@m%ﬁ%?

@ s
(© TN o

10.  Which of the following is the main reason of educated unemployment ? 1
(@) Slower rate of industrial expansi(;n
(b) ~ Improper educational system
() Both (a)and (b)‘
. (d) None of the a'bove’

ﬁﬁméﬂamﬂmf@aammam%?
(a) SlEnfirr foram ® efielt
(b) 3r3faq e yomc

ﬁi‘ﬁﬁ 2 (@) 4R (b)

(d) sﬂﬁaﬁﬁiﬁﬂﬁ

yﬁhy did the Russians want Tsar to withdraw from First World War ? Explain any three 3x1=3
reasons. ’ '

6 @ I @I 5 SR vew fave 43 @ W v W2 e i sl @ e
Hifw) ‘ v

: OR ~ : -
How did Hitler rise to power ? Explain any three poinfs. 3x1=3

e 3 form wobm T W 1?2 Rt i fargedl A waw ity

yWhy did the Kerensky Government become unpopular in Russia ? Explain any three ~ 3x1=3
reasons.

P TR T AR A T B 9 o e )
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OR
Explain why Nazi propoganda was effective in creating hatred for Jews ?

oy Fif = et w1 Pt aafe @ faers T Y F Y 3o SRR B w2

13.  Why is India called a subcontinent ? Name the countries which form a parf of Indian 1273
subcontinent.

RA ] SUHRIETY 1 el ST € 2 TH IUNTEY & 31 29 % "W fafaw)

14. - Which present day physiographic division of India has replaced the geosynclines-Tethys § 3
? Describe its process of formation.

e - v TR ¥ wH W A ¥ R A am w w g? ! i

wfsan &1 Foi FIfw)

15. . 4 s . . 24+1=3
What are corals ? Which group of Islands of India is of coral origin ?
TS 91 & ? RA 1 T G4 TYE Jard § S R?

16.  Describe any three main features of the Ganga river system. 3x1=3

T A F STYaTE 3 &l fhgl diF e faRmaie @ el st
1% ‘Explain any three rights which are usually taken away when a democracy is overthrown  3x1=3
by military ?

s A g A F TEE Sl I E T FA-BH Y AER A @ Ay s F2
. Tt w1 = s

s [ =
18. Explain any three essential features of democracy. 3x1=3

B o el A STovaT TeIvl hl AT FIT |

19, What is secularism ? Why is India called a Secular State ? 3
ePRYERT 2 ¥ SRA Y T HFrde T P e S R 2

20. How is multiple cropping done in village Palampur ? Explain. 3.
TE FTT o T ma § agfie e yonel fRE TR W $ S €2

21. What is the difference. between economic activities and mnon-economic acﬁviﬁes ?

Explain with examples.

s o e ol sl & e s 42 e 2 e 1 |
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22. Distinguish between economic and non-economic activities. 3

anfefer iR W - snfis wfafafiel § et s |

What landmark decisions were taken by the National Assembly led by the Third Estate
bn 4t August 1789 ? :

4 T 1789 e TR 3 G TR A H FA-F § e Pt fog T 47

2% What Landmark decisions were taken by the National Assembly led by the Third Estate

on 4th August 1789 ?

43mw'1789ﬁﬁ'@q%mnﬂqaﬁﬁﬁa—aﬁvﬂmﬁﬁam@ 97

25. How has Lenin's name become inseparable from the Russian Revolution ? Explain. .5

A %1 T w9 H il A form R st 98 e s e 2 =en wit
OR
Explain Nazi ideologies regarding women.

Tt 3 Wi s FrameTsi i T
26. Describe the main features of the Indian Desert. | 5
WA TERS i geA favraisii &1 s i)

'27. - President Mugabe was popular in Zimbabwe but was not a democratic, how ? Give five 5x1=5

‘reasons. ’
- rgafa g e 8 S o e o it T6 o, $8 02 B O s S
28. “India emerged as an ‘independent country amidst heavy turmoil’. Justify the statement 5x1=5
by explaining any five challen‘ges before the Constitution makers of India.

‘9T SUEYYS & WY YRd UH ST <0 H w9 A 99’ lvfawﬁumaﬂ%mamm
mmmﬁmmgwmmaﬁﬁmmm@

[ What is the aim of production ? Explain the four factors of production of goods and 1x4=5 -

services.

ICUGH 1 I A ? aﬁaﬂaﬂiﬂmaﬁ%maﬁwamaﬁaﬁmaﬁﬁm

30.4 What is the role of ‘SARVA SIKSHA ABHIYAAN' in achieving the goal of 5
- universalisation of elementary education ?

"gel foen sifvar” w1 wrafe faen & wredifre a5 # ra w6 F Fa1 yfae 2

31. Two features (1) and (2) are marked on the given political outline map of India. Identify 4
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318.

these features with the help of following mformahon and write their correct names on
the line marked in the map.

1) The outermost range of the Himalayas
) An important river of Eastern India
AND
Locate and label the followmg on the same political outline map of India.
1)) Highest mountain peak of South India
2) Standard Meridian of India

wra % feu T osifas v wEfes § @ o s (1) 3R (2) 3R feam e ) frefefa
oIS wer Q3 vewh e qEfs | sifwa vErel W et 9d am fofau-
(a) fenrea Y 99§ aRd vra / dof
(b) qEl A &1 qed wEEyel Tat
a3l

R % S T YT A § frerfefad 9y sifka R g 3% T fafa)
@ afaror RA 1 Sae gea faer
(b) R 1 HIh JRAIH |

The following question is for the visually impaired candidates only in lieu of 4x1=4
Map Q. No. 31:

o hae gy snfua witenfiial & g uve dem 31 & e w
(1)  Which is the highest mountain peak of Peninsular India ?
(2)  Name the outermost range of the Himalayas.
(3)  Name the largest coastal lagoon of Orissa.
(4) = Name the most importantriver of Eastern India.

(1)  TEE vRa F I Teda R e v ¥ fem 22
(2 fewoa ga@ SRl e 1 T fafa

3) @m%mmﬁ%wﬁa@_@gmmﬁwﬁa@ : :
@) gl R %) e weeq T w1 A fha A

-

Question No. 31
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